EARAROBEEIERT — 2 N— IBISH —F

201756848 (B) 3mEpR#2H

R Xl

REEFI

[($57E] Fikb

‘ [R1%] & ‘ [REBE] — | & (%) 1800 B

[A~&£] 17 5,000,000  ~ 23 :2,000,000H 37 :1,300,000

/47 1750,000 F 5 7& 500,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. e FLE—ER :54. —-3-2- . . AIESHE (EXR)
i RS I e 3 e 1(5_4)5 3-32-2 | 38.1| 84.4 | 1 :1352) #Hs%%ﬂ
LI INATA—h— B4 T7A~NO—F & %
Ry . 43 | DIEERER 1:54.5 1-1-1-1 | 38.3| 84.4 | 13 | 454 |BESEZ (ER)
2(1|1 |y F7=—¥4 %55.0 (7E) © | @ mRA-ZL-—2g
RiEr/O704 BTIRITANY HET7— L
—: v —: 4 3 | ESEE 1:54.6 6-5-4-3 | 38.0| 83.5 | 4 444 | KIRBEZ (]F)
31510/ 77V ITATT 56.0 (3/4) (cay | ENlEE
RihTotL R BT71XT4TV 0> HEFHTT— L
. N BERE : ~10-9- ZHET (EX)
4 3| Afvayrayc 3 ¢ <}§§¢? 11-10-9-7 | 37.4| 83.5 | 3 zzgg) mmﬂé
x> JARZX N BR—vw2T)y T ZIs%S
EEEEN 5 Ao FERER :55. -10-9- . . wiketd (Ex)
5 8 TYLRATNRIH 4 3 =5 1(535)1 9-10-9-7 | 37.9| 79.1 2 zg;t ujéagjcﬁrs
LN=VI754 BTV eIANRIA RS
S 1) e K # 3 | EHEBZ 1:55.5 4-3-4-5 [39.0| 75.9 | 9 486 | BAETEE (RR)
6l1l2|*1¥avvUy R 56.0 2 1/2) (-10) | ATHFIE
x4 avR—-5— B:N¥/I70 #T BEfE
AP o3 | e 1:55.6 14-14-12-11{37.9 | 74.6 | 10 | 468 |*fILEA (%)
718|16| %/ >78-UT ¥¢55.0 (1/2) o) | W sy
L:F1=TA NI N B:JO-LT742T> 24 NA B
Py RS S 4 3 | BERREA 1:56.3 9-9-6-6 |39.3| 69.3 | 8 480 | =R (E®)
gl7l13 €y bT1—> 56.0 ) 6 | ) 7H4—-LXb
LTIy B4R BieYIUyIi— HIARE Yk
. st 3 | AmEE 1:57.0 14-15-12-11| 39.3 | 63.4 | 11 470 | BE (FER)
97|14 X2H 7% 5.0 o O | ) xsmE
R:T—0 74— B:/O75E— FESE
— - it 3 | HF 1:57.5 13-13-15-14| 39.3 | 59.2 | 15 | 408 |MR&EBFIZ (R®)
10 5 ZAREAT7—Z« 54.0 (3) (+2) IREAER
L:jyr—3IVF7> B:DikrEOIFIF TR
CH_SL R 4 3 | RIGAR 1:58.0 2-2-2-3 | 41.7| 58.4 | 12 | 496 |BEREAthE (ER)
110 4| 7-VEH=F2F A53.0 @ (-10) | FIHEE
:7UF—-v B:T7-IRLTF— NN E%54%
4 3 | %EE 1:58.0 6-5-7-9 |40.8| 57.2 | 6 508 | MAKER (RR)
12 9| 7L#AZR 254.0 (2 E) -2) LE’E) HrF—L—S2
LA IxTv— BIUTLHR () tAa-—FRL -3 @ET7
[ N 43 | FEEER 1:58.4 16-16-16-15( 39.7 | 52.3 | 5 522 | 5EHA— (ER)
1311 ¥V =>r—7Lvh 5.0 2 1/2) (L | BiEx
LN=Y77514 B:¥—=ULy ba=FK HE77—»4L
= YD # 3 | HERE 1:58.6 11-12-9-10 | 41.2 | 53.1 | 14 | 452 |=@RZ (ER)
14008 12 TJVRT1 G149 54.0 ) (g) | A) =B
LNNVTSY BIURTAE—L Sliztae]
S o T 4t 3 | BPRE 2:00.8 4-7-7-11 | 43.4| 411 | 7 516 | RBBIEE (RR)
15/ 8|15/ I YNVT 73 56.0 (21 %) (+14) g—EKE
RW—F—2y 7 BaAAyR Ptz ISP S
i = # 3 | BRE 2:01.3 6-7-14-16 | 43.0 | 36.7 | 16 | 494 |ZAHE (RF)
16 6|71 h77R5— #85.0 @) (o) | HLB
R:hxeXx) B:a12hHeX el e
@ 71 L
) 51.1-38.3
NA>Z24 L | 12.7-10.9-13.4-13.1-13.3-12.8-12.7-12.5-13..1
® I —F—@EBIERL
13=3r= (x1,4)-7(2,15) (6,9,10) (8,13) (3,12)-5-(14,16)-11
2= = (x1,4)-(2,7) (9,10) (6,15)13(3,8) 12-5-16,14-11
Gol=5r= (x1,4,7) (2,10)13(9,15) (3,8,12) (14,16)6,5-11
40—+ — 1,7(4,10)2,13(3,8)9,12(14,15,16)-5-11,6
[ N3
B O 7 250/ 714K 1-7 3,710 e E 1-4 2,120 JEHE 1-7-10 15,420M
8 B 7 140 7-10 380M B = 1-7 14,200 B 7-1-10 111,070H
1 1,360 1-10 6,850M | | &5 # 7-1 19,910M
10 250M

ABICOVWTRDTEEERROODE. TR LIV,




